
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

4018 × 0.001 = ________ 8054, 1 × 0.0001 = ________

1509, 5 × 0.0001 = ________ 2303, 8 × 0.1 = ________

3025, 3 × 0.01 = ________ 7461, 5 × 0.1 = ________

7263 × 0.01 = ________ 1064, 7 × 0.01 = ________

6955, 4 × 0.01 = ________ 5069, 2 × 0.01 = ________

5213, 4 × 0.0001 = ________ 3340, 9 × 0.01 = ________

7031, 8 × 0.1 = ________ 4415, 7 × 0.0001 = ________

9894, 3 × 0.1 = ________ 1008, 2 × 0.0001 = ________

7049, 2 × 0.0001 = ________ 5490, 2 × 0.0001 = ________

6537, 2 × 0.001 = ________ 6743, 4 × 0.1 = ________

www.snowmath.com

https://www.snowmath.com


Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

4018 × 0.001 = 4.018 8054, 1 × 0.0001 = 0.80541

1509, 5 × 0.0001 = 0.15095 2303, 8 × 0.1 = 230.38

3025, 3 × 0.01 = 30.253 7461, 5 × 0.1 = 746.15

7263 × 0.01 = 72.63 1064, 7 × 0.01 = 10.647

6955, 4 × 0.01 = 69.554 5069, 2 × 0.01 = 50.692

5213, 4 × 0.0001 = 0.52134 3340, 9 × 0.01 = 33.409

7031, 8 × 0.1 = 703.18 4415, 7 × 0.0001 = 0.44157

9894, 3 × 0.1 = 989.43 1008, 2 × 0.0001 = 0.10082

7049, 2 × 0.0001 = 0.70492 5490, 2 × 0.0001 = 0.54902

6537, 2 × 0.001 = 6.5372 6743, 4 × 0.1 = 674.34
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